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I. MEANING OF HZOHUmZOm
When a tax is imposed on Some person, ¢ iq quite possipe that j
transferred by him to 4 sccond person, and this tax may be y]t; e 1 be
second person or transferred to other

s by whom it
ay not be actually b
determine who bears

. Mmately borpe py,, this
18 finally borpe. Thus, the wwao”

caring jts money burden 44 such,
the tax, ultimately. Thj is known

who originally pays the tax m
This problem i, therefore, to
as incidence of taxation.

The concept of “incidence”

¢nt economists. .Um:o:u for instance, considers incidence ag the direct mon
of tax on the person who ultimatly pays it. Incidence, thus, r
cannot shift the money burden of the tax to any other pers
a sales tax is imposed on Bara shoes, but the company’s sh
buyers, so the incidence of this tax lies on the buyers since
money burden.

Dalton disti
incidence is the di
burden.

Mrs. Ursula Hicks, on the other hand, talk

of a tax. The direct money burden of 3 ¢

cffective incidence 1s considered to be the
sense. To quote Mrs. Hicks: «T
income which does not form th
services, but it is p

ey burden
¢sts on the person wh

on. For example, whep
Op recovers it from the
they ultimatley bear it

guishes between incidence and aftects of taxation by putting that
rect money burden of a tax while its effects are the indirect money

s of formal and effective Enans.na
ax, she calls it formal incidence, while
cconomic effects of the tax in a UBm%,H
he formal incidence means the proportion of people M
¢ incomes of those who furnish them /S%.mwo& -
governing bodies to finance collective satisfaction.

Hicks, the calcul]

question of redistributio
71@?: N economic pl

aid over to .

>nnon%:m to Mrs, ation of formal incidence is cmn_?_ mm
assessing the n of income through taxation. It may m_mos .
anning, However, the cXact reaction of tax payers to a chang

. - e - . - % . - " > / \~ Hsﬂm;ﬂ
1N tax or the economijc repercussions of 3 tax cannot be directly ascertained by :
cstimate of the formal incidence. For t}

; ~ concept Om.
« 1S, we have to resort to the concep
“effective Incidence”,
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m:mn in the &mm_..mwﬂwﬂv prviiuiiaclid ulitlialigl.
10n pattern in th:
€ economy
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Jbsorbs real resources. Taxes .
without changing the level %m »W Jm thereased or reduced for an b
Jistribution of income and the mmw.%cgn expenditure Hgmow :MM_H% mn:wm Baomm
: o idence of taxation <h ges the
s the change 11 the distributi ¢ of taxation should a i
a ution of real income available for vmmw_ o vm%nmcwa
¢ use.” Thus, the

c
Jates tO A change in the tax system
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2. IMPACT, SHIFTING AND INCIDENCE

In analysing the problem of inci

of incidence of i ..
but int errelated forms, namely, i ! .Sxmc.o:, we come across three distinct
pectively, to the :su imely, impact, shifting, and incidence, which correspond
fesp Y b 3o .m,_OmEOP transfer and settling of the tax. As Seligman® puts mnu
the impact 1s the it phenomenon, shifting, the intermediate process and inci-

dence is the result.

. The term #mpact 1S used to express the immediate result of or original imposi-
tion of the tax. The :Eu.mnﬁ.Om a tax is on the person on whom it is imposed first.
Thus, the person who is liabile to pay the tax to the government bears its impact. The

impact of a tax, as such, denotes the act of impinging.

In short, the term w#pact refers to the immediate money burden of a tax. When
pact will be on some person who may, however, try to pass
n. The process of transferring the money burden of the tax
of shifting a tax starts from its impact and ends at the

2 tax is imposed its 1m
it on to some other perso
is called shifting. The process

point of incidence. .
The term “incidence” refers to the locatio
burden of the tax as such.* It signifies the settleme
tax payer. Incidence emerges when the tax finally
person who bears it. It, 10 fact, is the ulumate result O
&,m tax 1s upon that p¢ ot shift the burd
himself bear the direct moncy
ro distinguish
4ial burden O

n of the ultimate or the direct money
nt of the tax burden on the ultimate
settles or comes to rest on the
f shifting. Hence, the incidence
en any further, sO he has to

mpact and incidence of taxation.

between the 1
idence refers to the

Tt 1e thus .
It is, thus, easy :.
- o - tax, while 1n¢
1. Impact refers to the #7 f the tax,
ultimate burden of the tax. o .
int'of :ﬂ@omao:, incidence occurs at the point of
pol

S

2. Impact is at the
Kw&m“sﬁmxw.

m whom the tax collected and
For example, supposc a tax

producers, in the first

he person fro
on who p#y$ it eventually.
n soap. IS impact is on the
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e incidence rests on the pers
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falls upon them- Y Pay the tax ang gq (2O by g
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4. Impact may be shifted but incidence cannot, Fop. ;. inciden,,
shifting process. manQBnmw however, when no shiftin H Snam:na is the eng
income tax of such other direct taxes, the impact n&%&M%&ﬁMﬁ 35 in the
w1 SAH Qﬂs
Ce

same person.

\(~"3. TAX EVASION AND TAX SHIFTING

Both shifing and tax evasion are the methods of .
. the burden of taxes is shifted through the vehicle of wMMMﬂ”monMer t
¥ 10

In that case, consumers eventu

of the

On the

: ax shifti

a person deliberately pretends that he is not liable to tax by show; on, howe wnm,
possession of goods or services or income subject to tax. .mecmﬁw .EB.%:. not iy
sometimes even the goverfiment also intends so while imposing a tax M_%m is legal 4
tax shifting, though the incidence ultimately falls on somebody:. H.rnczrnp under
teceives its due revenue. Tax evasion, on the other hand, is illegal ww the nmowangaa
the government by concealing facts and the latter loses its due revenue ader cheats

Apart from the tax dodging, smuggling is also a sort of tax evasion as customs
are evaded on smuggled goods. Tax evasion is, therefore, an offence and is

duties :
mcamrmc_n. There is, however, legitimate evasion of commodity taxes or even
income tax, when a person does not buy the taxed commodities or does not earn the

income beyond the exempted limt and thus escapes taxes.
.~ 4, THE PROCESS OF TAX SHIFTING

on of incidence lies in the investgation of the
shifting of taxation. To discover the actual incidence of a tax, we have to know
fring is the intermediate process

whether, why, and how a tax will be shifted. Tax shi
between the impact and the incidence of taxation. Incidence signifies the result of tax
shifting. According to Seligman, therefore, the real economic problem lies in the

nature of shifting.
As we have seen, the shifting of tax refers to the process of Q&.ﬁmﬂ of the tax
burden from one person to the other. By means of shifting, it i possible for the tax

payer to escape the burden of tax.

Shifting can occur only in connecti
only medium through which a tax can be . ifred
so common.) Thus, shifting is common in commodity taxation. If a tax 1 mw_mﬂm
either the price of the taxed commodity will rise, or its price remains the samé, W!
the quality lowered. In the case of most direct taxes, however, shifting is OL PO -
as their impact and incidence will be at the same point; SO also there 15 lack ©
medium for shifting.

The central part of the discussi

transcation. Price is the

on with the wlnn .
ther medium but not

shifted. (Gift is ano

Forward and Backward Shifting
shift w, Wa shifting process can be either forward or backward. A rax is said © ol
a1 M. >:m%mm.a wm price of the commodity which consitutes the medium for mw%ﬂm
P B r~ o a i L e 1 N1 CC wl :
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(of seller), if the tax is jnjg

-.. €r or producer, it is shifted
Forward “shifting, ro€n<nﬁ is m er, it is shifted backward.

ometimes can shift a tax : backward shifting. !

%W seller in the form of _oww@”:a —ommodity he purcahses, at least Mﬁ MWM__WUMWM
prices by restricting his demand. Another nxw_d_u_n of

¢ Employees State Insur-

2 o . db i
the form of lower wages, if the ca.maasm power of the _%MM_M n_m %M»MBEB\R "

| rward or backward
of resistance to transfer the burden. Cq

Jess resistance to forward shifting,
mand would have greater resistanc

, depends on the relative strength
mmodities having inelastic demand will have
while commodities having relatively elastic de-
¢ to forward than backward shifting.

5. TAX CAPITALISATION

A special type of tax shifting is called “tax capitalisation.” The tax capitalisation
generally occurs at the time of selling process or exchange or transfer of land or other
assets which generate a flow of income and are subject to a series of successive annual
taxes during their lifetime. The net flow of regular income from such assets is
reduced when the taxes are imposed upon them. Hence the selling value of such
assets is reduced when the buyer tries to shift (backward) the burden of the tax to
the seller by offering a lower price than its market value, discounting all the future
taxes he is liable to pay, at the time of purchase. The buyer, thus, &mn.ocs.nm the <&.ﬁn
of the asset by capitalisation of tax in order to escape .:.. Such :&cnc.o:. in the price
of an asset, as a result of discounting all future taxes estimated upon it, is nwznﬂ a.Sx
capitalisation.” Generally, the tax is amortized or discounted through a an?nn_mco:
of the capital value of a given asset by a sum equal to the nﬁu;mrmna <m.~cm of the tax.
The future tax is capitalised and deducted 1n a lumpsum from aﬁ price offered, as
there may be no later opportunity — no price vehicle — for shifting the burden
backward once the asset is mcnn:mmmam

Under tax capitalisation, thus, though the buyer of the asset will pay the tax to
government, the seller bears the burden of incidence, as the UE@. has at the H:dn of
Purchasing that asset transferred the smro_m U:.En.: o.m tax Uv\.mmv::m a lower price to
the amount of future taxes estimated. Tax capitalisation therefore causes the n:m:.mn
In the price of assets. Suppose for example an asset 1s valued at Rs.10,000 which
Vields an annual income of Rs. 500. Suppose 1t1s taxed at Rs. 100 per annum or at
the rate of 1 per cent ad valorem. The UQ income 1s thus .RQEHQ 6 Rs. h._noo per
AMnum, Now. if the buyer is willing to mnvest his savings AE. mE‘nrwm_sm this asset)
At the rate of um: annual return of 5 per cent, he would be .s:m_.:m to pay Rs. 8,000 |
for the asset. Since the capital value of a “Perpetual Annuity” is:

Annual net income

\inual net INCOME - . 400/0.05 = 8,000
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